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. This question booklet shall not be opened

. The candidate should check the No. of

- The examination shall be conducted as per
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furnished by the candidate found false/
incorrect/incomplete detected at any
stage, the candidature shall be rejected.

completely with Blue /Black ball point
pen only. Partial darkening shall not be
evaluated.

partially shall not be evaluated.

manner putting ‘x” mark/using white
fluid/erasing by rubber/blade etc. shall
not be evaluated.

until instructed. Write your Roll No.
correctly in this booklet as well as in the
OMR answer-sheet.

Printed Pages and Questions along with
their Serial Nos. In case of any discrepancy
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collect another correct one from the
invigilator within five minutes and

thereafter no complaint shall be
entertained,

the Odisha Conduct of Examination Act,
1988,
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"' observer

Which of the following is not a method
of estimating reliability of a test ?

(A)
(B)

Test - retest method
Alternate/parallel form method
Split - Half Method

I d I Testing condition method

Mita wants to know whether she will
perform well in a particular job or not.
Which of the following tool will predict
this ?
(A) Achievement test
Attitude test.., .
(C) Aptitude test ..

(D) Intelligence test

In wtuch of the following ratmg scale, a

sequence of definite numbers is supplied
to the rater or to the observer and the
awards an' “appropriate
number ? '

(A)
(B)
(©
(D)

Standard scale
Rating by cumulative point
Graphic scale

Numerical scale
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Which of the following is an objective of
evaluation ?

(A) Know about leami.r_\gud_‘%ffi'culties

(B) Measure the achievement of
learning

(C) Know that learning has actually
taken place

All of the above

Id In

A progressive school curriculum planning
should be done in a way that :

(A) Boys and Girls have different

curricula

(B) Intelligent child should not be
allowed to mix with normal
children

(C) Children should be given a free
hand to choose subjects from a very
young age

(D) Itis a flexible and rich curriculum

including various co-curricular
activities

Which of the following statements is not
a feature of the process of learning ?

(A) Educational institutions are the only
place where learning takes place

(B) Learning is a comprehensive
process

(C) Learning is goal oriented

(D) Unlearning is also alearning process
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W.Kay (1970) asseted that moral maturity
involves :

(A) Altruism and rationality

(B) Autonomy and heteronomy

(C) Punishment and obedience

(D) Social and interpersonal

At which age does a child begin to be an
active member of a peer group and tries
to be independent of his parents ?

(A) 4-5yrs.of age
(B) 5-8yrs. of a-ge
(C) 11-12yrs. of age
(D) 15-16 yrs. of age
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10.

Which of the following is a social change
during adolescence ?

(A) Fear and Shame
(B) Adult-like-beHaviour
(C) Restlessness =" -

(D) Imagination -

When a test measures an individual’s

-, ability consistently-and accurately, sthen

that.'quality. of. test is known as

(A) Validity
(B) Reliability
(C) Objectivity

(D) Focus centered
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11.
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14.

Which is not a type of curriculum ?
(A) Child centered

(B) Experience

(C) Regional

(D) Activity centered

Which statistical method is useful when
distribution of scores is normal or near to

normal ?

(A) Standard deviation

(B) Normal probability curve

(C) Average deviation
Median
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What will be the shape of a graph
between intellectual development and
chronological age from ' birth to
adolescence ?

(A) ] -shaped

(B) S- sﬁaped

(C) Zigzag :

(D) Hyperbola shaped

Which scale is widely used in surveys
when data are classified by groups or
subgroups ?

(A) Qayefe (A) Ordinal
(B) e > (B) Nominal
©) IR (C) Interval
(D) ugaiee (D) Ratio
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16.

An empowering school will promote
which of the following qualities the most

in its teachers ?

(A)
(B)
©)

(D)

Competitive aptitude
Tendency to experiment
Memory

Distiplinéd nature

Which of the following is not a
developmental task of adolescents

according to Havighurst ?

(A)

(B)

©

(D)

Accepting one’s physique.

Developing socially acceptable
behaviour.

Preparing for marriage and family
life.

Learning sex differences. -
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Who said, “Yoga is the identification of
self with divinity” ?

(A)
(B)
(©)
(D)

Rabindranath Tagore

_ Mahatma Gandhi

Sri Aurobinda

Patanjali

Teachers of gifted children need some
particular qualities. They must :

Do not have variety of interests

Not willing to accept unusual and

_ (A) ﬁq 6201 QAN 2, (A) Be intellectually curious
(B) 6QfIeEa A3 2192 RaIg (B)
(C) QS 6 362 9RIQ ggIeRIGRQ (©)
926 QA9 G768 ARR diverse questions
(D) Qawe U8 (D) Not to be systematic
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(A) 60 -70

90 - 100
(D) 100 - 120
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According to RTE - 2009, how should

children with special needs study ?

(A) In special school established
exclusively for them.

(B) At home with their parents and
caretakers providing necessary
support.

(C) In inclusive education setups with
provisions to cater to their
individual needs.

(D) In vocational training centers
which would prepare them for life

Techofworld:Ih

20.

Backward, dull and retarded children are
generally to have an IQ between

(A) 60 -70
(B) 70 -90

(C) 90 -100
(D) 100 - 120

Which steps'coﬁld be taken to give
emphasis from teaching to learning ?
(A) Focusing on-examination results
(B)  Adopting child centered pedagogy
(C) Encouraging rote learning

(D) Adopting teacher centered teaching
Whlch is not a component of cc;re
curnculum ?

(A) Duty towards constitution

(B) Study of forelgn culture and
tradition ' '

(C) Protection of ervifonment

_(D) Scientific temper
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Which is not a projected teaching aid ?

(A) Slide projector

(B) Blackboard

(C) Overhead projector

(D) Epidoscope
245125

JITVLE WV
How can the internal consistency be

measured ?

(A) Anecdotal Record method
(B) Test - retest method

(C) Split - half method

(D) None of the above
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Which of the following is a characteristics
of a learning disabled child ?

(A) Misreads number (‘6" as ‘9", ‘3" as
ISI)
(B) Reverses letter (b’ as ‘d’, ‘p’ as ‘q)

(C) Add letters (‘'want’ as “‘what’, “what’
as ‘whart’)

(D) All of the above

Emotion is originated through

(A) Habits
(B) Instincts
(C)  Physical development

(D) Formation of concepts
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28.
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“Growth is the multiplication of cells, as
growth in height and weight, while
development refers to the change in
organism as a whole.” Who said this ?
(A) E.B. Hurlock

(B) Frank

(C) Crow and Crow

(D) Allport

Which of the following is not a principle
of constructivist learning ?

(A) learners construct knowledge for
themselves

learning is a constructivist process
learning is a social activity

the teacher tries to arrive at a
solution of the problem in a

classroom

An

29. 6@6AIQ ALWER 69T AR 9 AN At adolescence, the head of the child is
ae | about :
1 1
(A) eelee - @ (A) Zth of the body
1 1
(B) €QIea g 2d (B) gth of the body
1 345120 1
(C) daee 5 o (©) gth of the body
1 1
(D) daiea@ - 26 (D) Zth of the body
30. QeSO AVEQ ARIREER ARY 2ddeq @@Qlg | 30. Signal learning is commonly termed as :
qlem :
&ﬂﬂﬂm UQRE (A) Operant conditioning
((E;) ?lgm UgeRe > (B) Classical conditioning
(D) @’?‘g 6w y (C) Chain learning
__\_52 ReQich a8e (D) Verbal associate learning
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61. Some of the crockery broken. 66. [visited him ____ Christmas day.

(A) has been (A) on

_(B)—tave been (B) in
(C) were
(D) have (e 388
(D) - upon

62. Which of the following activities comes

first while teaching a prose text ?
U IHE SENENNE S o 67. She said, “My father died a year ago.”

The above sentence can be reported as :

(A) She said that her father had died a
year before.

(A) Dividing the whole text into sense
group paras.

(B) Planning some activities for the
learners to introduce the topic.

(C) Silent reading by the learners. (B) She said that her father died a year
(D) Asking questions for helping before.
comprehension. (C) She said that her father died a year
. ago.
63. One who loves and works for his (D) She said that her father has died a
fellowmen is called a/an ___ year before.
® wms Tachof .|
® aast | CCIIOTWO r N
ng),..ausanthropl k. The objective of note-taking is to develop

(D) philanthropist -
(A) reading and writing

64. Intonation is learnt through . (B) listening and writing
(A) reading C) listening and speakin
'Y g P &
(B) listening (D) writing and speaking
(C) writing
(D) speaking
3 69. Verbal test can assess the ability of
65. While we _ our dinner, the light
went out. Jﬁ.)/ listening
(A) have (B) speaking
(B) are having (C) writing
(C) had

L (D) listening and speaking

(D) were having

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

70.

71

72.

73.

Download Tech Of World App

His behaviour on that occasion was quite

(A) unappropriate

(B) inappropriate

(C) misappropriate

(D) inappropriately

State which of the following is
grammatically acceptable.

(A) O Hamlet, speak no more!

(B) O Hamlet! speak no more!

(€) O Hamlet speak no more.

(D) O Hamlet, speak no more.

—

Techofworld.Ir

People say that Govind was a great
doctor. The passive form of the above

sentence is :

(A) It is said that Govind was a great
doctor.

(B) It was said that Govind was a great
doctor.

(C) It was said that Govind had been a
great doctor.

(D) It is said that Govind is a great

doctor.

Using intonation is necessary both for

-

(A)
(B)
(©)
(D)

speaking and writing
speaking and listening
speaking and reading

listening and writing

74.

79,

76.

77,

78.

79.

WtsApp/Call- 8596976190

Lalita kept her coat on
warm in the room

(A)
(1)
(C)
(D)

since
although
yelt

's“”

Questions on comprehension test the

learner’s ability of

(A) understanding
(B) vocabulary

(C) speaking

(D) writing

Students explore the meaning and

information about a lesson

(A) during silent reading
(B) after silent reading

(C) Dbefore silent reading
(D) after extensive reading

Spacing is necessary for

(A) reading
(B) writing
(C) speaking
(D) listening

Dictation tests the skill of

(A) listening

(B) listening and speaking
(C) listening and writing
(D) speaking and writing

He is suffering from

(A) the headache
(B) headache
(C) a headache
(D) an headache
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80. What type of questions promote thinking
skills in children ?
\(i)’})pun—cndml questions
(B) Close-ended questions
(C) Factual questions
(D) Questions based purely on the

reading text

Read the passage below and answer the
questions (Q. No. 81 - 85) choosing the correct
alternatives given.

At this time also Gandhi became more
interested in religions. When friends asked him
to help them in their understanding of the
Bhagabad Gita, he began to see how beautiful
it was. Before long it became for him the one
book for the best knowledge of truth. Someone
gave him a Bible and in it he found some
teachings of Jesus which he liked very much
because they were so like certain ideas in the
Gita. Then from a reading of a book by the
English writer Carlyle, he learned about the
Prophet Mahammed and about his greatness
and bravery and simple living. At this time he
was beginning to learn that the truth he loved

was not to be found in any one religion only.

81. Gandhi liked very much the teachings of
Jesus as
(A) they resembled certain ideas in the
Gita
they taught him to live bravely
they helped him unders}and the
Gita
they taught him the lesson in simple

living

WtsApp/Call- 8596976190

82.  Which book for Gandhi was the one book
for the best knowledge of truth ?

(A) The Bhagabad Gita

(B) The Bible
(C) The Quran
(D) The Bhagabad and Quran

83. Thomas Carlyle was author.
(A) a German
(B) a French
(C) an English
(D) an American

Techofworld In

Gandhi began to see the beauty of the
Bhagabad Gita

(A) when he became more interested in
religion

(B) when his friends requested him to
help them in understanding it

(C) when his friends gave it to him to
read with interest

(D) when he began to find the teachings

of Jesus in it

85. The phrase ‘before long” means

(A) certainly

(B) slowly
(C) later
(D) soon
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Read the following poem and answer the 88. The "wretched’ means
questions (Q. No. 86 - 90) choosing the correct
altt‘rr'ati“-.h gi\":n- 1’.'.‘.} llll' -“]li '.';1'.];.
The storm came on betore the time
She wandered up and down; (B) angry

And many a hill did Lucy climb;
But never reached the town. (C) contented
The wretched parents all that night
Went shouting far and wide;

But there was neither sound nor sight (D) feeling unhappy
To serve them for a guide.

That day-break on a hill, they stood
That overlooked the moor;

And thence they saw the bridge of wood, .
A furlong from their door. 89. What did the parents see from the hill ?
They wept and turning homeward, cried,
[n heaven we all shall meet, (A) A field
When in the snow the mother spied

The print of Lucy’s feet.

JTechofworld.In

(B) A wooden bridge

Who did not reach the town ? (C) Their door

43} Thepost (D) The moor

(B) The parents

(C) Lucy

(D) The storm 90.  Why did they weep ?

(A) Because they could not arrive home
87. The parents were looking for

(A) a guide (B)  Because they were lost in the storm
(B) the bridge
(C) Because they could not find Lucy

(C) their daughter

D) Because they thought they could
(D)  the moor ) ;e d : ?
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91.

92.

93.

(__9&e 6 8i5 / MATHEMATICS & SCIENCE )

giafie FANR0 9068 699 496 a8d
AVANL FAUAIRAIN 7

(A) €98 aed

(B) Q9Q qleeq aad
(C) ugeed a8d

(D) Q968 ANY A8S

Q69 RIQ 6QLE 9&e
Q6L ?

98 aeGa agé

(A) 2aged Qa9 geala

(B) Qo3ge@ RUER 2°8 o8 &l
(C) age a@ae g

(D) Q9@ ANIIAIRG AR A

91.

92.

Which learning method is adopted at
Elementary School Level ?

(A) French Method

(B) Kindergarten Method
(C) Imitation Method

(D) All the above Methods

Which one of the following is not a
characteristics of Learning Mathematics ?

(A) Provide scope for participation

(B) Take active part spontaneously

(C) Providing stimulus for interest
Neglect the backward students

Techofworld In,

4R 39Pa 69gTR e QITFANR 688TRa

1

5 2°d | GeR 6 giiFana aeel AR 8

geea §f 20 .. ee6q, SIRAR QR
2d0180 QLA AUGRE a9 @Il
cRUISEa 6T6Y 6960 ?

(A) 20 62.4.
(B) 30 6Q.fl.
(C) 35 6a.4.
(D) 40 6Q.4.

93.

A triangle is 5rd the area of a trapezium.

If the triangle and the trapezium are of

equal height and the base of the triangle
is 20 cm, what is the length of the line
segment that joins the midpoints of the
non-parallel sides of the trapezium ?

(A) 20 cm
(B) 30 cm
(C) 35 cm
(D) 40 cm
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Qaf adya au AAIRaIe! 28 B {914
QAIRAIS! 224 | QeI QO A @R |

(A) 14, 56
(B) 56,7
(C) 28, 56

(D) 14, 34

94.

WtsApp/Call- 8596976190

The mean proportion between two
numbers is 28 and their third proportion
to them is 224. Find the two numbers,

(A) 14, 56

(B) 56,7

(C) 28, 56

(D) 14, 34

Techofworld.In

afioq RGe daq aqQdu ge edel A
609 g 2968 266 ?

(A) agae
(B) FeRqee
(C) ueee

(D) QeRINR

95.

Which process is involved to identify the

specific learning difficulties in

Mathematics ?

(A) Prognosis

(B) Diagnosis

(C) Prediction

(D) Comparison
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96.

97.

AABC 6Q D, BC @064 9@ §¢ we°
mZABC=m«ZDAC | 9§ AD=6 6Q§,
AC=126Q4 8 CD=96ad 249, AABC @
aeQInl FEa @Q |

A

(A) 28 6Qd
(B) 32 6Qf
(C) 34 6Qd
(D) 36 6Qd

Techofw

c38Q AR AFIRRER 2GS @4 ?

(A) 4.6%. 2I6Ql
(B) 9.4 §A
C) @IRaGR

(D) Q#ae

qu

96.

In AABC, D is a point on BC and
mZABC=m«ZDAC. If AD=6 cm,
AC=12 cm and CD=9 cm, find the
perimeter of AABC.

A
B D C
(A) 28 cm
(B) 32 cm
(C) 34 cm
D) 36 cm

(D)
Who is the Pioneer of Taxonomy of
educational objectives ?

(A) A.]. Harrow
(B) B.S. Bloom

(C) Krathwohl

(D) Simpson
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98. Q& x=2+3% +33 99, ¥¥—6x2+3x @ | 98. If x=2+33 +33, then what is the value

R4 6960 ? of X3—6x2+3x ?
(A) 8 (A) 8
(B) 6 (B) 6
(©) 4 (©) 4
(D) 2 (D) 2

99. 15%¥x10' @ QETRR 6896R 6@601F g2 | 99. The number of zeroes at the end of the

Qe ? number obtained on multiplying
15%0 % 1012 js :

(A) 30 (A) 30

(B) 12 (B) 12

©) 42 ©) 42

D) 6 (D) 6

Techofworld.In

100. G6RIE Gir GR AR A°¢Yl F1UQ GE6SY@ 6QIPI | 100. From among three numbers greater than

QIR 9.9Q1.9. 29 G QeMIgAR ANF 290 | 30, each pair has the HCF 29 and their
Q3 geeia Qe 30 AN QRER RN, sum is 290. What is the largest number ?
6069 QERF A°AMIT 660 ?

(A) 75 (A) 75

(B) 95 (B) 95

(©) 145 celshe (C) 145

(D) 135 (D) 135
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101.

102.

QERYE ARIG 6RRT 9860 AR AR AILige
Q90 9NQ NVER PGS 7

(A) JRNAIRG FRY UIRIEE ATIGRR QG
2AFNE IR |

(B) QR Qda dfIines aR-IdeIR
Q0o QIdY KA AYAT IS |

(C) 994 QUER G BIF 2190 IR 999
doIe R |

(D) 6918@ QAR 6ga1Q SNNEININS AU6a
cqlaQ 2gen dqdinies gae 31
Qa3 |

. Which one of the following is assoc jated

- NN, Nen - 3
the enrichment programme 1N

(A) Students are allowed to work at

their own pace.

(B) Different category of students are

allowed to work with Co-operation.

(C) No seriousness is required for
acquiring depth knowledge on

content matter.

(D) Intellectually inferior students are
always dominated by intellectually

superior students.

Techofworld.In

% 6,000 § 9O8 QEAIG AR CAAGR 69IG
Qe QI8Q 12% QM 21660 3 98 QA *AR
6Q6R 6968 Qu AFe, 2y QIeQ QI8@ 16%
QI 21066 4 @4 6 F1IA IR PR 66N 630
Qu G99 |

(A) % 3,500, T 2,500
(B) % 3,750, T 2,250
(C) 4,000, ¥ 2,000

(D) % 4,250,% 1,750

102. Divide 6,000 into two parts, such that

interest on first part at 12% rate of interest
for 3 yrs. will be equal with the interest
received on second part at 16% rate of

interest for 4 yrs. 6 months.
(A) ¥ 3,500, 2,500
(B) ¥3,750, X 2,250
(C) 4,000, X 2,000

(D) T 4,250,% 1,750
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104.

J85=2915, +/85=9.2915 626%,
0.00085 = ?
(A) 0.0921

(B) 0.00291
(C) 2.0915
(D) 0.02915

Techof

23 601N 6QIRIR1 RS MY T150 & MY
15% QeIo6eq @9l a2 T 7.50 A 9@
QR AIe8l F2B 6069 QIFQ 20% QN 29 |
MIeQ BRI Ga @ |

(A) %90
(B) %100

(C) %110

(D) %120

103. If J85=2915 and V85=92915, g

J0.00085 = ?

(A) 0.0921

(B) 0.00291

(C) 2.0915

(D) 0.02915

'world.In

104. If a shopkeeper sells a bat marked ¥ 150

at 15% discount and gives a ball costing
T 7.50 free with each bat, then he makes
a profit of 20%. His cost price per bat
will be :

(A) T90

(B) T 100

(€ T 110

(D) T 120
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105. In the figure shown DH : HG=3 : 1,
EG:GF=1:2, find DX : XF.

105. @@ 9868 DH:HG=3:1, EG:GF=1:9
DX : XF 8¢a oq | '

D

D
X X
E
G I . G F
(A) 1:1 (A) 1:1
(B) 1:2 (B) 1:2
€ 1:3 (© 1:3
(D) 1:4 4

Techofwo(?la.ln

106. 6015 QIFER 2 F1Q 8 P g, A1 106. A mixture of milk and water in the ratio

G PP AQAIe M 3:2 9Q° AR 9@ AIg6a 3 : 2 was taken in a pot and in another
1 6 PPQ AYUIG gl 5: 3 | AKd dIgg pot, the ratio of mixture of milk to water
[¥=17) ARAIeER g6 epa faReR, /e was 5 : 3. In what ratio of the mixture
figaeca 91 6 0 AYUIS 629 11:7 ? from the two pots be mixed such that the

ratio of milk and water in that resultant
mixture will be 11 :7 ?

(A) 8:5 (A) 8:5
(B) 8:7 (B) 8:7
> 5¢2 € 5:3
(D) 5:4 (D) 5:4
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107. R6qI9 Aug QIPIG (o AFIYS ?

108.

109.

(~'\) \/‘g - \fﬂ_‘—j
(B) \/q r \'E
(C) \’fl_i -+ \ﬁ

(D) J10+4J20

3(33%) =277 4+ 54 626Q, x Q IR 6960 ?

1
(A) 3
B) 1
2
© 13
(D)

Techofwi

Q§ 2¥+¥=32 06 2" ¥=4224, €069
:c?-+y2 = |

—

107. Which of the following has the greatest

value ?

(A) B8+J22
(B) J1+vJ29
(C) V12+18
(D) V10++20

108. If 3(3%%)=27%+54, then the value of x is

(D) 2

orid.In

17
(A) =
19
B 7
29
© =
41
D) 75

109. If 2¥*¥=32 and 2*"¥=42, then
24y? =
o
(A) 3
y 1
B) 3
o 2
© 3
-
D) 3
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Se—

). AoRYe 5
110. FRRAE F1U1g 620 6961 aiel auiase aeiae | 110. For which category of the following the

diedie Tee ? results of evaluation is necessary ?

(A) e (A) Student

(B) @ae (B) Teacher

(©) gaae (C) Administrator

(D) @aeq9 ang (D) All of the above

111. 6966 G86Q Qqa 86 a'ge qed ? 111. Which one does not link with the nature

of Mathematics ?

(A) o (A) Logical

(B) Qeyede (B) Systematic

(C) 2UFRRS (C) Exactness

(D) edeIae (D) Descriptive

Techofworld.In

112. 9@ 99¢ QEQeQ 2A 6 9919 6916 A6 | 112. The difference between the interior and

aieiey 60°, 6069 @9 QLY LA exterior angles of a regular polygon is 60°.

6@60 7 Then, how many sides are there in that
polygon ?

(A) 5 (A) 5

(B) 6 (B) 6

(C 7 © 7

(D) 8 (D) 8
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113. 9@ qi&6e anauq S6e 2eqgd 2race 309
A0 ¥R 08 ANRIRER RARIG CRRIQ 6RQ
988 QRIaNg ?

(A) 26

(B) Q6L
(C) &Seqad
(D) Q°64a8

114. @GR ARG 69LE BIF A°C0R AR FJ&N IE!
Q6L ?

(A) @a1ch AGa 6210 Fea BIS B6l6 969 |

(B) QAIEe QU IFaa Qo d94 AR
6212 |

(€) dmdia AYANNIRS TeL, ISR,

cesme T @ChOTWOrl.IN

(D) dRIE0I6a Y 2GRSI AL FOF ARG
QFRO 621Q BIS QG 6212 |

115. “ade 9@ S8Ie QIR 2I9aie A8I8 FFI0d
@’ | - @9 QP86 ?
(A) 6aI6R
(B) 20699
(C) 6eBIfe 698q
(

D) QIia@a

WtsApp/Call- 8596976190

113. In which method a Mathematical
Problem is divided into meaningful parts
to derive at solutions ?

(A) Inductive

(B) Deductive

(C) Analysis

(D) Synthesis

114. Which of the following is not an example
of Constructivist approach ?
(A) Student actively construct his/her
knowledge.
(B) Learning through social interaction
and exchange of ideas and values.
(C) Itdoes notdevelop skills like critical
thinking, evaluation and creativity.

(D) Construction of knowledge is
possible by addition of new
experience with student’s own
experience.

115. “Mathematics is the Science which draws
necessary conclusions”. Who said this ?
(A) Locke
(B) Hogben
(C) Benjamin Peirce
(D) Galileo
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——— e
116. In the given figure, PQ = PR, RQ=RS and
ST||QR. Find the measures of ZRST.

116. @8 986Q PQ=PR, RQ=RS @ ST||QR
ZRST @ 98016 Q¢la oq |

Q Q

(A) 64° (A) 64°
(B) 52° | (B) 52°
© 12° ) 12°
(D) 76° 76

Techofworalj)d.ln

2 - -~ < -
117. 1-7‘ A GERINR QEMIFIR IR AF1 WG)I°6 eI 117. Find a fraction, equivalent to the

. 2
@, JI2IQ A9 G 20Q Al 8 622 | multiplicative inverse of 1;, such that

the difference between the numerator and

the denominator of the fraction is 8.

(A) ;—; | (A) §—’§
(B) %;— | (B) %53;
() ;—2 (©) ;—2
®) 2 ® %
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118. 9@ AAERIAN Gqea a1 @Iga €A

119.

120.

20 6Qfl ¥e° @d 6 FRIQIPR IR AN
8 6Qfl 696R, A RIPEQ 676y Aa @4 |

(A) 21 6Qd
(B) 29 6@
(C) 25 6Qf

(D) 16 6Qf

r+a= x+b 626®, a=b; 99 6QIS FAQ
60Q P 299 ?

(A) Qe
(B) Q4@

€ «a
(D) 689@

32 6 /3 @ qear da ea |
(A) %6
(B) 72

(©) 108

(D) 7da SQUARARL @I&

118,

Techofworld.In

119.

120.

WtsApp/Call- 8596976190

One side of a right triangle measures
20 ¢cm and the difference in lengths of its
hypotenuse and the other side is 8 cm.

Find the length of its unknown side other

than hypotenuse.
(A) 21 cm
(B) 29 cm
(C) 25 cm

16 cm

If x+a= x+b implies that a=Db; this can
be established by which law of addition ?

(A) Associative
(B) Distribution
(C) Order

(D) Cancellation

Find the product of 33 and /3.
(A) %6

(B) 72

(C) <108

(D) Cannot be determined
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: o -,
121. 45 Q69 Q19 PIRCLICQHR ¥deq ade

A 121. In maximum how many litres of
6060 MER AN YYO FAUAIRUIGS ?

aquaregia can be prepared from 4.5 litres
of concentrated hydrochloric acid ?

(A) 4.5 Qeg (A) 45 litre
(B) 6.0 fea (B) 6.0 litre
(C) 7.5 Qea (C) 7.5 litre
(D) 9.0 Qe (D) 9.0 litre

Techofworld.In

122. @RITCI ARAIR CAINTI 696 2019 dQI910a | 122. The operation blackboard is a part of

NG a7 which National Education Policy ?
(A) RI91E SN 1986 (A) National Education Policy 1986
(B) ®I919 S[RES 2020 (B) National Education Policy 2020
(C) eIe1E JNMS 1968 (C) National Education Policy 1968
(D) <AIRE AIQ 6006 & Q62 (D) None of the above

123. 6904IQ G 69241 : 63 : : UQAR 6 | 123. Carbohydrate and fat: Energy : : Minerals

@19dIQ : ; and Vitamins :

gge 69 gRia AEI0e Aeeqee ? Which type of fixed answer question is
it ?

(A) QT LRI (A) Multiple choice based

(B) QlQdyf)aa (B) Analogical

(C) eana (C) Matching type

E

Selection based

(D) o906
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124, giafie daiea g cAIeR QIdIgn @Re

125.

RAUAINAR ?

(A) Qe daig 98 aeael 6aIgIRQ

(B) 2IQVIGe QAR 2§

(C) 69191 g6 RRAQIBQ] 99 69Q!

(D) 66191 QY] F9gE K8

124. Why was mid-day meal introduced in

primary education ?

(A) To give nutritional support to

primary education
(B) To bring institutional reforms

(C) To emphasize on accountability to
the community

(D) To strengthen community

participation

Techoiworld.In

ARIP 90 ARl AAAER FVRAIER IAR
Jeoa 2enae Q23 6 eI2l Al 9e81a
6210214 | 6669 FF)gea G 690 ARG
FERIRINR QI8 96Q R ?

(A) Q99T RN ANVE

(B) €d4d1 QI2ia 99ddeq VAR
adyeeae

(C) Ga9a gEe AR Q4R

(D) QAT gef QeI AFAUIR

125. Teachers adopt various means while

teaching Science subjects and it is
accepted by students. Then which of the
following does not develop scientific

temperament ?

(A) Through experiment of the topic in
Laboratory.

(B) Observation of the topic in the
outside class environment.

(C) Vivid description of the topic.

(D) Observation of the phenomenon
through project.
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¢ bending movement of stem

Yy @ @ 126. What is th
B S S X 1 the sun light called 7

) ar
@ 6 QRIAN ? towarc

(A) ULYP MR (A) l’nsilivvgmtmpism

(B) 9999 Sugeeas (B) Negative geotropism
(C) ULRR ABANIYRER (C) Positive phototropism
(D) goqe asaRigeee Negative phototropism

Techofworld In

127. dIQ BRIQR 088 AFe 6a¢ gRAIS @°ge | 127. Which of the following processes is not

Q6L ? associated with metallurgy ?
(A) Q& eqiecan (A) Froth floatation
(B) @IT6RAR (B) Catenation
©) MINTERAR (C) Calcination
(D) <QA:d JdaMxad (D) Magnetic separation
128. 69@ Q86 QI8 ANNE Q6L ? 128. Which statement is not applicable for cell
membrane ?
(A) 6RELINR 8 AR 2RE (A) Envelope of protoplasm and
nucleus
(B) 6R19gFQ aada Ol JaR @6 (B) Separates cells from one another
(C) qﬁczusz 6 6404 QIR €0e (C) Composed of proteins and
' carbohydrates
(D) 8§99 (D) Porous
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129. RgeR IR 6¢1a6 FIQ 666 217 990 | 129. Which of the following does not react

663 gogal eea I ? with acid ?

(A) onl (A) Copper

(B) @eam (B) Nickel

(© sexifian , (C) Chromium
(D) ageie Oxygen

Techofworld.In

130. 6615 50 cm 6€N9Q Qa0 Ida 9@ Qee 130. A convex lens (Fig. a) has a focal length

EmeAq (Fig. a) gq8l 2R QIS 60Q AINYR! 50 cm. It is cut into two symmetrical
AeR 98 QA AAFE RNIVER LA halves by a plane containing the principal
QRUQIQE | (Fig. b) | QARG ACAIRGY axis (Fig. b). The two pieces are
Fig. c 6a 586 @aIaIgd | 9@ A6aIeea re-combined as shown in Fig. c. The
4AQNY 6MAQ AIGIQ 6Q6E 629 ? power of the new combination is :

Fig.a Fig.b Fig.c Fig.a Fig.b Fig. c
(A) 05D (A) 05D
(B) 025D (B) 025D
(C) 1D (C) 1D
(D) ZeroD (D) Zero D

Join Us-
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131. UFQ GYIA ATA6R 60 ST 62IRag 7

(A) Q9 AIrPAsdIa AERSS
(B) @@ AIA6g91R gqie8
(©) 9egq <19 Ade

(D) °9 9gQ 2ILeR LId

131.

WtsApp/Call- 8596976190
—
Which event does occur during

inspiration ?

(A) Contraction of abdominal muscle
(B) Expansion of abdominal muscles
(C) Release of air from lungs

(D) Reduction in size of chest cavity

Techofworld.In

132. 25 m? YI9OR 9} 9@ ANER QUEQ 15 Pa

Sla 9guUT | ANGR QAR AANIEL AAR!
QPR ARAIE 6260 26T ?

(A) 375N

B) 6N
(C) 175N

(D) 125N

133. 6R006R 4AEA 6RI8 I80 200090 21 ?

(A) 640 a9edel
(B) gleaqiedal
(C) Q191§

(D) QIpede 68l

132.

133.

A pressure of 15 Pa acts on a plane of

area 2.5 m2. The force normal to the

plane is :
(A) 375N
(B) 6N
(€ 175N

(D) 125N

Which has
chlorophylls ?

eukaryotic cells with

(A) White Blood Corpuscles
(B) Tradescantia

(C) Bacteria

(D) Blue Green Algae
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134. 6ol Qoeiee?d caiq aidica AIB QBAIEA ?

135.

136.

(A) Raog
(B) Qome aoe
(C) 29 Qg

(D) o1|E @6

GIRYE AERINRAINE ARIGA 686 ARAINE
a1 A0R A6RIRR Q6¢ ?

(A) d8iEhe 98ql 98Q aQfe /09!

(B) daiehe QdQ 6re
(C) QA8 da1dIg QfIP R ORI
gode eael

(D) dRIEINIRg QTOIRER Rl FA!

F6q)I9 UG 602G 9109a 9@ g Mg
269 ?

(A) dee

(B) 6918

(C) 6aNER
(D) @& ARSI

134.

WtsApp/Call- 8596976190

Which adaptation can help fish to surviye

in water ?

(A) Fixed eyes

(B) Streamlined body
(C) Light skeleton

(D) Sharp teeth

echofworld.In

135. Which of the following is not a right

136.

attitude for the teachers ?

(A) Toencourage the imagination of the

learners.
(B) Taking care of the learners.

(C) Treating all the learners equally.

(D) Comparing the learners as per their
abilities.

QOut of the following which is an alloy of
Mercury ?

(A) Brass
(B) Bronze

(C) Solder

(D) Zinc amalgam
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137. QOQ6Q REYIR QIR 606 QYT eRIReeI ?

(A)

(B)
(©)

QITAIGI FaaE
PN AfeeR

U008 F9 VI

Techof

Aae G Q9T FRICR &9 gRIggs

(D) 99 Al 6aIeR
138.
(A)
(B)
(©)

AR 91006 Qnd
QRI0 QIRa6e QNG

QD TR 6 QRI0 18A6e QNG

(D) QdY SIGA6E QB

ad eNed o9 @ueq ANAAIE F49
5R6qIF on QIdY @8 6A163 aR AT AT,
606@ 6Q6@IET QAT AR AUER 6RI6 6REE

699 ?

139.

(A) 0
(B)
©)

30°

o

60

WtsApp/Call- 8596976190

137. Which work is not done by transpiration
in plants ?

(A) Temperature regulation
(B)
(©)

Movement of water
Evaporation of excess water

(D) Excretion of minerals

Id.|
wB.OA[teroids.bet[len Mars and Jupiter :
(A) revolve round Mars
(B)
(€)

revolve round Jupiter

revolve round both Mars and

Jupiter

(D) revolve round the Sun

37/ 60

[f three forces equal in 1., ing
on a body produce no result, then the

139.

angle between any two forces is :

(A)
(B)
(C) 60°

(D) 120°

(D) 120°
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140. Qiaea PR AIRIFIER 606 2GRS GRUAING 140. Which microbe does convert alcohol to

Q6RaIa 9ge @6a ? vinegar by aerobic fermentation ?
(A) @4 (A) Yeast

(B) deciQige (B) Acetobacter

(C) deseienifiq (C) Pseudomonas

(D) ueQIRIdag (D) Lactobacillus

Techofworld.In

141. G619 Q80 AUQ 66 JTI 6AIRRIR ARE 141. Which of the following is not a step of

Q6L ? lesson plan ?

(A) gefe adeg (A) Introduction
(B) @ag1gel (B) Presentation
(C) Qara (€) Summary
(D) qauae (D) Evaluation

142. 9946994 980 IR FVIVNEA 6R0T 4TS 142. Which is teacher based in the observation

coaam ? method of Science teaching ?
(A) Qe Q¢e (A) Description of objectives
(B) @@de e (B) Group discussion

(C) Qaie (C) Conclusion

(D) aiad - (D) Experimentation
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p—

3. ‘649 QA8 g’ o & 5
" &i@?;mkv“m @19 @ Gaa §9 @eia | 143. “Who gave the principle of white dwarf
dem ? - 98 gge cow ge1ea ? stars 7 what kind of question is this ?
A) RIS 215
(A) adiRIG (A) Knowledge based
B) Q& a
(B) 9% a@e (B) Understanding based
(C) QUeQIg 2Ge (C) Application based
(D) <aQI ARG (D) Skilled based
144. QRIAIT IR 69Q QAT g Qes ? 144. Which statement is not applicable for
black soil ?
(A) 2icgadieg oRe 98 (A) Originated from igneous rock.
(B) 921 6 AIGGIAA ANER TU6R 2SN s s
it.
(C)  AIGNEe 6 6A126 NE6R U Bl Sl S
it.
w D) Sui ivati
g Des a1 @age (D) Suitable for cotton cultivation.
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145.

146.

CRINE-19Q AGYAE 609 QIR ARINER I
g ARG QA 6R@I 7

(A) Q19

(B) &9

C) <

(D) QTR

145. Which carrier was the cause of

transmission of COVID-19 to take the

shape of pandemic ?

(A) Bat
(B) Man
(C) Air

(D) Pangolin

Techofworld.In

IEANEYAE IQIRRIQ IR S99 QIR A8
GR6R | FRITCIER DIDIG CAYER | 6A2UER A°6I00
62R21Q1 ZICAIR g 6 2RRIQ JadIqg ZICRIow!
Q6R | AT 6R6OIT e IREIY FRITCIER
cRgen | afcaasa daiChg Geed 6a6al |
Q26 602 gAIa SRR F8Q 7

(A) adisesd
(B) UISIRFRS
(C) 9odeqee

(D)A Jeedae

146. On teaching photosynthesis, the teacher

gave its definition. He wrote it on the
blackboard. Discussed the light reaction
and dark reaction involved in it. He wrote
the related main ideas of it on the
blackboard. At last, he gave the
homework to the students. Which type
of education is based on it ?

(A) Observation
(B) Descriptive
(C) Exhibition based

(D) Project based
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147. TUKG \w“\n“\n‘(\l ((}C:{ (\G‘Edagl SQW)Q{G\G‘: EJ?‘1(;]|G‘| 147. A group of cells were ()bSL‘TVL’d after

SQIGR! | Bak ) g -
ﬁ‘ l_gim | Fwge g 6296 eIRIa gqa reduction division. Which of the
0 ¢ as ' . :
Jeuea 49eq 9o1eg ¢ following does indicate the gametes of its

male parental generation ?

(A) XX (A) XX
(B) YY (B) YY
C) X&X (C) X&X
(D) X&Y (D) X&Y

Techofworld.In

148. 69U QENEY AR I°ERIT AICINRY IOIAB ? 148. Which electronic configuration indicates

a cation ?
(A) 17p, 17e, 18n (A) 17p, 17e, 18n
(B) 15e, 16p, 17n (B) 15e, 16p, 17n

(C) 19e, 20n, 17p (C) 19e, 20n, 17p

(D) 9p, 10n, 10e

(D) 9p, 10n, 10e
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149. QQINE G\T‘;‘ ;‘jﬂlﬁ‘iﬁ“—x’? 6;];@&,'?1(}‘%‘?,: ‘:.)v(n' 149. Indicate the correct order of '1""[7‘1 in

2AQ 4O12 |

(A) QA FOAAR —
- 20919 — 9IFIRQIAI — AR} |

experiment process education.

QO LA (A) Problem presentation —3

Understanding the problem —
O

Assumption — Experimentation —

Inference.

(B) d®18 — QAQY RAVAF — AAQYI (B) Inference — Presentation of
LRATN — URAIF — aaImIFadl | . problem — Understanding the
problem — Assumption -
Experimentation.
(C) <Ay REKAR — AQYAIR — TN — (C) Problem presentation -
aIFIRAIA — ANV LA | Assumption — Inference —
Experimentation — Understanding
the problem.
(D) QAQYl 224gf — QUYL — (D) Understanding the problem —

aFIRQAI - 2AIR — IR | Presentation — Experimentation —

TechofiworldTH" =

150. @I9 QAT ¥6RAER QAR MeLIQ | 150. In thermochemical welding aluminium is

@144 | RANE - used because :

(A) 2QFRaA 9Q AR U1 (A) Aluminium is a light metal.

(B) 2QAfaae 23697 96 2N 2IAB 2 (B)  Aluminium has more affinity for
oxygen.

(©) uQfFane 2106 ZMaIee olg 2@ (€)  Aluminium is a stronger oxidising

agent than others.

(D) 219A%a0 gogaae eide Zeg (D) Aluminium is a reactive metal.
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£ cuns dIFI9R! Q10 / SOCIAL STUDIES ]
G 2 Q ']
. Z?gﬂ ? e . @6q8a ade 91. Which standardised method is relatec to
analysis of evaluation ?
A) 64dIew
& (A) Planning
e @

el 8 (B) Preparation
(C) 699 !4

(C) Trying

yﬂqm (D) Evaluation
Techofworld.In

92. 6RWC ROAA AVNQIPR AGAYS [6E 7 92. Which is not included in history teaching ?
(A) UG ASAIQ Qad QA< (A) Recalling the past events
(B) ¥UO1Q ATEINEG KITE] 2R K09 (B) Determining the future from the

past events

(C) USIE ALEINRIQ LEAINY 2R AR (C) Determining the present from the
past events

(D) ee1e aAcel doe 950 28g QUIs AR (D) Analysing the picture relating to the
past events

93. Where was the capital of Odisha situated

@ 20168
9. 0cq 6OEIR QIRIIF 660!
3. 6o 1Y @ during the Mughal rule ?

AQde aml ?
(A) Bhadrakh
(A) @@
® (B) Jaleswar
FERqQ

(C) Cuttack

R
(D) Pipili
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95.

96.

97.
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6QQE SIACSITIR QIF Q6L ?

(A) [IIeR AFe

(B) Qrdaeg gede «aQl
L._________-—

(C) 7 gade asl
(D) 6qIgIQIE a8l QAR

609 RAIQIRT @feId FQIRIFQ VERE!
P08 G96a AKESE IR FQILIN
QU ?

(A) Q€099 gead

(B) Qrage doey

(C) dREia ARG 2LMNQS!
WOIQI@IG‘ AP 96

94.

95.

Which is not the function of the pressyr

group ?

(A) To contest election

(B) To influence the M.Ps

(C) To influence the public opinion

(D) To protect the group interest

Which is not considered generally for
formulation of objective in teaching
history ?

(A) Type of the subject matter

(B) Cultural heritage

(C) Psychological needs of learners
(D) Social status of parents

Techofworld.In

QUM ZINE 6 689 AR AU AT 26R
@' 249 ?

(A) 602 RS IR Q6L

(B) QIS QR IR Q6L

C JA6RITR F19 ERIPIAI
\()/‘21991 ?

(D) QEFQIR AR AN 9

RF6ae da1QIF 98F A% 60ad aude
6@ 7

=)

A) de1eh Fee QYRR Fud

C) daiE odgs QIR gode oad

—

(
(B) &mel @Fgs 21ge 9uid
(
(

D) 8 609 dihe oidy adicose
@08

96.

97.

What happens when there is a clash
between the State and Union Law ?

(A) The Union Law prevails
(B) The State Law prevails

(C) Opinion of the Supreme Court is
called for

(D) Both the Laws become void

Which is not related to activity based
teaching ?

(A) Learner learns by doing
(B) Learner shows interest in work

(C) Learner shows respect to work

(D) Learner observes the teacher’s work

only

SR

WtsApp/Call- 8596976190
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. SET -(A]
9. REAMG ce9e1 cod aggq Fdle agg
. 1% 98.

*Q26RN ? Construction of which temple was
A) Goae completed by Udyot Kesari ?
4 ) |
(B) QIeqia (A) Lingaraj
(B) Rajarani
(C) _e6gge

(C) Brahmeswar

(D) ageisaga
(D) Parsurameswar

99. GPAIR QUG OF Bq Bcia
Q0 @9 Fdig @Qgem ? 99. Who did build the Amaravati fort of

Odisha ?
(A) diecep (A) Kharavela
_(B) -€Qi9aer caQ (B) Chodaganga Dev
(C) ofa eoe (C) Hambira Dev

(D) <QdeaQ coe Kapilendra Dev

Techoqurld(fnln

100. 1789 Ad2I6Q TAIAINIER 688 QIRL°@ | 100. The French did revolt against which

FEARIER EQIR PR ? dynasty in 1789 A.D, ?
(A) 6QIFIERIN (A) Romanov

(B) G@ea (B) Judor

(C) o6 (C) Hanover

(D) 606 ! (D) Bourbon

101. Which activity is not guided by taxonomy

- al ol
. o @cadia @Fead
101. 6R@ @Iy 688 of educational objectives ?

adeIRe 29 AIF ?

(A) 6g6NgR6eR 2IQIRgIea A0RG! (A) Accuracy in classroom

communication

Saota: NG9 (B)  Evaluation of learning experiences
B) &adia g« ,
(B) ~ (C) Preparation of curriculum

loyga 99¢
(C) aioig %? _— (D) Development of infrastructure of
(D) Aayea S8R schools
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102. QRIS ALREEE! 6A0IG AlWIEH

(B) @R

(C) A

y@gl
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102. Where did the traveller Iban Batuta come

from ?

(A) China

(B) England

(C) Germany

(D) Africa

Techofworld.In

103. QR 699 600 YRR TR CRIRYER ?

_(A) _ec@anTRa

(B) @RIQR
(C) RV

(D) 6290614l

104. 9911 4Ide AAL6R FIFQ 2AIR QIR
aee1 @'4 2l ?

(A) 69RQ1

}) qRed

(C) Igessl

(D) asgar

103. In which battle was Mukunda Dev

defeated ?

(A) Gohiritikiri
(B) Mandaran

(C) Kondavidu

(D) Devarkonda

104. What was the designation of the village

accountant during Sultanate ?

(A) Choudhury

(B) Muquaddam

(C) Kanungo

(D) Patwari
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e

105. 6ORFAA :
L 6Q6Q FRa QIR caiaa 105. When did Belgium declare her

Qa7 independence ?
(A) 1815 (A) 1815
&4830 (B) 1830
(C) 1838 (C) 1838
(D) 1848 | (D) 1848

Techofworld.In

106. QAR «f98 798 Q°adea 364 2a@@ | 106. When did the British Government
EQ6Q 6WITSI @QY6A 7 announce about the appointment of the
Simon Commission ?

(A) 1926 (A) 1926
ﬁ) 1927 (B) 1927
(C) 1928 (€) 1928
(D) 1929 - (D) 1929
107. “aa acial’”’ Q°E0s @4 968l SRR ? 107. Who did found the “Young Italy”

organization ?

(A) Qg (A) Cavour
W (B) Mazzini
C) <IRQIRe (C) Garibaldi

(D) Victor Emanuel 11

(D) §ige QAIPIR 94
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108. QIR RUAER Gae JNda ERERAIN @4
elea ?

(A) QIREaIQINISIA

(B)

Q8. QUEHR JAIP

WI@QGQGG‘G‘

(D) @6 BYUEaR

WtsApp/Call- 8596976190

108. Who was the first Governor General of

Independent India ?

(A)
(B)
(©)

(D)

Raj gopalachari

Dr. Rajendra Prasad
Lord Mountbatten

Lord Wavel

Techofworld.In

109. Who was the President of the Constituent

109. QAR 9EARRIQ1 ANIQ &4 ANTS A6 ?

m/)w. QUERR 9aAIQ

(B)

QUREAIDINIINT

(C) 6AIBRIN 69629

(D) QU RERNIR TEER

110. 6Q€6 QIAIFR 0 FAIRIGR AFAAYS
Q6L ?

R

(B):

(©)

(D)

2RyFe AIRa 26RER 8 cRlsaIRe

2l

URJGR AAINA 670R 6 UIFQ 6000

US10Q 691N aaseal

AAIFR ATEIRIQ gt aAgRI4
QAR

110.

Assembly ?

(A)
(B)
©

(D)

Dr. Rajendra Prasad
Rajgopalachari
Motilal Neheru

Sérdar Vallabha Bhai Patel

Which is not under the preview of Social
Science teaching ?

(A)

(B)

©

(D)

Economic and geographical

conditions of the modern society

Moral and religious values of the’
modern society

Glorious traditions of the past

Prospect of recurrence of the social

event
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111. AAIPS QIO JAIQIRER 609 O85F ey | 111. Which method does give direct

ALHE geIe *dang ? experience in teaching Social Science ?
(A) Qe98a (A) Survey
(B) adgara (B) Excursion
JC) _zueqmen (C) Discussion
(D) oFeae (D) Story telling

Techofworld.In

112. “Spirit of the Law” 9@ &4 @0%1 @G26a ? | 112. Who did write the book “Spirit of the

Law” ?
_(A)- 168y (A) Montesquieu
(B) eeQIaiQ (B) Voltaire
(C) aea (C) Rousseau
(D) IR ALeq (D) Karl Marx

113. 606 geI0Q 3812 g66I0e 88INP6R @a]e | 113. Which category of learners is benefited by

228 ? remedial teaching ?

(A) @ga @8 (A) Gifted

(B) QrIieé (B) Normal
h_(_C_)_____G_%‘@EI‘ 69G6R g2l (C) Academically backward

(D) . 2e4e AIRde 90 (D) Severly mentally retarded

114. 969991 OQIFI 629 6941 RYIGR ? 114. What type of evaluation is entrance test ?

(A) QA8ge (A) Summative

(B) @ORY@e (B) = Formative

(C) 6FQPe . (© ﬁiagnostic
(D) AP (D) Placement
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115. 6096 I621de acaIgfea gReIFe a9

116.

117

Q6w ?

608 IR AINLICALER 2IGe @Al ale
QUFAGE AFA-° QA1 ALK 621QeI ?

(A) 69163 QIYQ QA OGeER R

(B) _2QQ

y(g}/eéla@ QMR FIF afeeR an

(D) Q°g9 0IRQIg F9a ande Sq

115.

11e.

WtsApp/Call- 8596976190

Which is not an archaeological source of

historical events ?

(A) Monumental Pillar
(B) Rock Inscription
(C) Scriptures

(D) Metal plates

Which Bill needs prior sanction of the

President for its introduction in

Parliament ?

(A) Bill to change the boundary. of a

state
(B) Money Bill
(C) Bill to change the name of a state

(D) Bxll on a subject in the Concurrent

TechofWorId In

64l q@aoﬂm Qi qe»el @IQG’M a8
g6 @ige ziede e@maem v :

(A) QINERER gaIe FaiR

(B) ®eo1a SFUGAIRE 2SAG)

(C) QYR AINA AR

(D) QOAFCRINR 2GS

117 Why were the fore1g'n capltahsts attracted :

towards Indian industry before Indian
independence ?

(A) Spread of political influence

(B) Incompetence of Indian

industrialists

(C) Prospect of huge profit

(D) Necessity of Colonialism
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118. 6095 26RTQ 2QIa 26T ?
(A) Qatee e
(B) 98 @8l zyeIa
(C) {48 aee 2yee

(D) dsi9e ayeQ

118. Which is an economic right ?
(A) Right to property
(B) Right to contract
(C) Right to employment

(D) Right to education

Techofworld.In

119. QUQE6R ‘‘IQRa 18”7 MYl codaIee
geee eaden ?

(A)  feee!
"~ (B) eqIg@

(C) =e49

(D) aaIal

120. RIQS1G ARUILR FRIFINIR UIRAIYES 696 |

cada QANIR QoI gaIde ?

(A) Q9QIg ZIEARRI
(B) @egda
Q/eﬁsm 66¥IQ Qade

(D) QR

Join Us-

119. Who did introduce system of “Rule of
Law” in India ?

(A) Marathas
(B) Mughals
(C) British

- (D) French

120. By the Constitution of which country are
the emergency provisions of Indian
Constitution influenced ?

(A) US.A.
(B) Australia

(€) German Weimer Republic -

(D) Canada
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121. 606 991 aoueId calan @89 4e9d 7

(A), - QI6A10Q
(B) @I6ea1
=0 eer

(D) <f9e
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121. Which river valley is important in terms
of coal ?

(A) Damodar
(B) Kaveri
(C) Ganga

(D) Brahmaputra

Techofworld.In

122. 99 QYIPFER 6RNE AAGER &Y FBIAIR
REL NG 99 ?

_(A) caga

(B) ®é® 60w
(C) 9oe Qe

(D) gIFaa

123. eMGINE P00 2080 AR 6RW AR
QISR geNes Quon 7
(A) 998d
(B) @R

(€) QY gRIPe Aggeed

Mq@e QAR y°q

122. Which one is used as the principal raw
material for generation of power in
India ?

(A) Coal
(B) Mineral oil

(C) Natural gas

(D) Uranium

123. Which is the most important human
activity responsible for the contmuous ;
reduction of wildlife ?

(A) Pollution
(B) Hunting

(C) Introduction of Allien species

(D) Destruction of natural habitat
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124. R6QI9 60U QAT 6AIQ AR QIR @6 ? 124. Which of the following rivers has its origin

in Odisha ?
\(—A)/qgisamu (A) Subarnarekha
(B) 6@0a4! (B) Baitarani
(©) <cIRgen (C) Brahmani
(D) aQIee (D) Mahanadi

Techofwaoarld.In

125. 298 6 QA 2UAR CIe! 696 0866 AGie | 125. Which method is most useful in the

waeaian ? learning of latitude and longitude ?
wgdqe@ss\ (A) Direct observation

(B) adisema - ~ (B) Observation

(C) a6 adicaad . (C) Indirect observation

wm aa8e ' - (D) Lecture method

126. 639IQ 6R9 A2Q 60 G96 QI8 ARG ? 126. Tropic of Canéer passes through whiéh
' i city of Odisha ?
(A) QIREaw | - (A) Rourkela
(B) <QIQAQI ‘ (B) Baripada
(C) <QleagQ ' (C) Balasore

W gsé' | (D) None of the above
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127. 6990 6RAERR 1@ 2°E 6% ? 127. Which one is not a part of biosphere ?
(A) &g aae (A) Lithosphere
(B) QI2yraw (B) Exosphere
(C) QIGnae (C) Hydrosphere
(D) <QIgrae (D) Atmosphere
Techofworld.|
128. 2I5ae §66Ie dTI6a 6066 g%w q@% 129 ‘Vl\:hich is tthost important aid used in
g N6 MNOYe 29 7 ‘ the teaching of regional geography ?
(A) 6qe (A) Globe
(B -Hisqia (B) Atlas
(C) ewael : (C) Blackboard
(D) oI ; (D) Chart
129. 6R46 QUNGER QagIe AR Afe Q6L ? 129. Which one is not connected with rainfall
in India ?
(A) QoI ! (A) Cyclone
Jg)/gem QIOIRE (B) Anticyclone
N Y
(C) aeeRe (C) Convection
; M o101 Rl oisodia (D) Orographic obstruction
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o1 —| A |
130. Which atmospheric layer does reflect
radio waves ?

130, QIYA9RA 6Q% 3060 6056 oag géade
CRIN2Ng ?

(A)  AMG Age (A) Magnetosphere
(B)  qeeaq (B) Stratosphere

. (©)  21g6R13aq (C) Tlonosphere
(D)  encaiaq (D) Mesosphere

Techofworld.In

131, P68 AuQ 6060 G6aIR 88160 5688 0160 | 131. Which one of the following is commonly
MUORE 99 7 used in geographic teaching ?
_(A) 6% (A)  Globe
(B) QI90Q 6 6066 (B)  Maps and diagrams
(C) a8 agyee (C)  Study tour
(D) 686 00QNE (D)  Field trip

132, 60R0 FO1 Q2 @F6 e QEaRRe §Ag2 | 132. Which one is not a depositional feature
Ped 7 associated with river ?

-«

(A) @0 6QQIR (A) River Terrace
(B) Qe ef (B) Flood Plain
(C) Gewia g (C) Delta

(D) 9e6e of (D) Natural levee

Join Us-
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133, Q2910 IONER TEPAYI aIE 600 ORGT

134.

135.

s 7
(A) ofedy a8d
(B) adyeesd a8d
(C) MR Q8D

(D) _Odyeesd 8 afedy 0o

133.

WtsApp/Call- 8596976190

Which method is suitable for teaching
pressure belts of the earth ?

(A) Discussion method

Observation method

(B)

(C) Lecture method

Observation cum discussion

method

(D)

Techofworld.In

A% 69143 T@ a1 Ol6R ARYI 5 GIER QL
QIR 24, 6069 6a0 TRRE 26 FUR 6QQ
QAGER 629 ?

(A} @.58.2699I1g

-

(B) @.599Ig

(C) 9.114.26 e

(D) 4.5 8. 52 zaqlg

F619 frIQ 6RUN0] BRAIGR ‘cesle o
QRIAN ?

(A Geeedel 9010 QiR

(B) @ARaIR o0 agyie
(C) 9209° RI018 aguIe

(D) QRIE! NG QIR

Join Us-

134,

135.

If Puri experiences high tide at 5 PM on
any day, when will be the next high tide
experienced there ?

(A) 5 hrs. 26 min. AM
(B) 5 hrs. AM

(C) ' 11 hrs. 26 min. PM
(D) 5 hrs. 52 min. PM

Which of the following is known as
“Hental bana” in Odisha ?

(A) Bhitarakanika National Park
(B) Similipal National Park
(C) Sundarban National Park

Indravati National Park
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136. 6RRC GHAER FREAVRN o @2 ?

(A) 99 6 7eqE
(B) Qadan

(C) caam

(D) ey @9

137. 99 GTQIR FIQR 6966 AIA] QXM ?
(A) 155 @.8.
(B) 1.65 @.4.
© 175@.4.
(D) _1.85 @.4.

—  Techofwor

138. Q@6 q“{g 60Q 69154 2R ?
(A) 609187 SRIGIEN ZAAIREY - 620GP
(B) 200¢ QRIAN URAIRGY - OQQ
(C) 6RIFIAG SRIGIST ZRAIREY - GAAIR

(D) @aIERI0 416N ARAQE - AARYR

139. QIQEQ 6RA0IER TR UCAINE CFNAIQ
Q@ ?
(A) aiQiq
(B) geaIe
(C) 99 2aes

136. Which one is a major source of irrigation
in Odisha ?

(A) Well and Tube well
(B) Tank
(C) Canal

(D) Other sources

137. How much does a nautical mile measure ?
(A) 1.55 km
(B) 1.65 km
(©) 1.75 km
) 1.85 km

1d.In

138. Which pair is incorrect in terms of the

location ?

(A) Debrigarh Wildlife Sanctuary -
Debagarh

(B) Hadagarh Wildlife Sanctuary -
Bhadrak -

(C) Kotagarh Wildlife Sanctuary -
Kandhamal

(D) Ushakothi Wildlife Sanctuary -
‘Sambalpur -

139. Where is found the largest reserves of
crude oil in India ?

(A) Assam
(B) Gujarat

(C) Eastern offshore

(D) _ada 2aes

(D) Western offshore " AR
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140. Q8 Fq6a yel 2EeaR Ig @8 92!

(A) Qe

(B) Qi
(C) AIg

(D) Qaim

ara

140.

WtsApp/Call- 8596976190

What is called the Molten rock below the

earth’s surface ?
(A) Lava
(B) Sima

(C) Magma

(D) Sial

Techofworld.In

141. 0@ 679 A2 qdse QAle ?

(A) 9a6na

B
©

@dIQ1 6914

aRI2Ig2 6aa

(D) 29Q 698

142. 2048 0P B 6R60Q Paq AINEH COHIIRS!

P1Q gRIEg Q4 QLIAI ?
/LA) AR g6

(B) Qaegse geId
(C) Gaeges geid

(D) QemIag s aee

141.

142.

With which cloud is the thunderstorm
associated ?

(A) Stratus cloud
(B) Cumulus cloud
(C) Cumulonimbus cloud
(D)

Cirrus cloud (0

What are the species of plants and
animals those are extremely rare and may
occur at a few locations called ?
Endemic species

(B) Endangered species

Vulnerable species

Threatened species
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143. 6QQ0 GAMA @A QAMA IR 2°eQ 96Q0Q | 143. Which one represents the earth’s pattern

gotNg @6a ? or a part of it ?

(A) AR (A) Scale
&saa@g (B) Diagram

(C) AIRSg genae (C) Map projection
(D) QIS8 (D) Map

144. 99 AIRGSER 6766 624 ARELEE 629, @12l | 144. On what does depend the amount of

QU6a 79 Q6Q ? information to be represented on a map ?
(A) Qe (A) Scale

(B) gemqs : (B)  Projection

(C) Qe reee (C) Conventional signs

(D) @dequs AU« (D) All the above

™ TechoﬂNoﬂdln

145. 36919 QWIGEJI@ q_@(;? ﬂé.lel 3 GQI@G‘ 061 145. Which one of the following palrs of
@gt gelim QIQl Q8. 621083 (2% : islands is sepa_ra,ted_fr_pm_ each other by
the Ten degree channel ?

(A IR 6 FeRIea-" 1 1 (A) Andaman and Nicobar .

(B) @eRIea G gAIQ! (B) Nicobar and Sumatra

(C) Awga s QA E (C) Maldives and Lakshadweep
‘ (D) 'geIgi 6 gl 4 AV LAk Bl v Sumatra and Iava BRI

.....

146. QG 69A0IER FIGH1EOI8 fama aae@ 146. Where in India do occur temperate

gQglidig 7 WHGRAEY, '| forests ?

(A) Qeale I (A) Eastern ghats
(B) a&qalc (B) Western ghats
© aawee ' (C) Aravali
/(p.)/ﬁmm ; (D) Himalayas .
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% @ ) i he following maps does not
" 36 o aede 2969 | 147. Which of t |
S - g come under the category of physical

6@ 7
’ map ?

= - i 1M
(A) ¢ée AIeeg (A) Mineral Map
Astronomical Map

(B)—SicaIma AIR8e (B)
(C) €8 AIReE (C) Soil Map

(D) @fe AIRee (D) Vegetation Map

148. 62 §@f 00T q66Red AA°6E adie 148. Which seismic wave does move up to

QAIReNg ? Gutenburg discontinuity ?
(A) ‘P ood (A) ‘P’ wave
_(By—'S’ ooa (B) ‘S’ wave
(C) 'L oae (C) ‘L’ wave
(D) R’ oaer ‘R’ wave

(D
Techofworld.In

149. 8¢ QGAIRER 6RQ GYIATQ ARG ALY 6 149. Which gas does show significant variation

QAAQ ANLQ F6aa AGQER RN ? from place to place and time to time in
the lower atmosphere ?

(A) g (A) Oxygen

(B) asMQRIe] (B) Carbon dioxide

(C)_ omd Q¥ (C) Water vapour

(D) aeee (D) Argon

150. 689 REQ16R ga, fAlIA6a AQ0Iq 9@ @f 150. Which city has the longest day in the

62Imelg ? month of June ?

(A) €aNRq , (A) Bengaluru

(B) Qeerge (B) Bhubaneswar
9 RO (C) Kolkata

(D) axu (D) Delhi

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

